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Please write down the serial number of the question in the
answer-book before attempting it.
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General Instructions :

Read the following instructions carefully and follow them :

e This question paper contains three sections — Grammar, Writing skill and
Text-books.

e Part A (Grammar) contains two (2) questions. Attempt both questions based on

specific instructions given in the questions itself.

e Part B (Writing Skill) consist two (2) questions. Attempt both questions based on

specific instructions given in the question itself.

e Part C (Text Books Based Questions) contains five (5) questions. Attempt
questions as per the instructions given in the question itself.

PART A

1. 696916 661 QA6 6md | (2009 250 4R AUEQ ) Ix5=5
i) J9694 a9l
i) €19 8 676aal
(i) RO VNG

2. (@ 9N AAAEQ IR QR RS CRARXI QAERXHYER
QUGN ARG FEIAQ! IR IR FASIY YYG VR | 1x5=5

@l
b) QF UEIACEA 9P FNIRG QAL AR TR W ANINAG
9IQQ IR 99 9adig 996 @9 |

13 Page 2




13

PART B
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